
The Merge Calculator 

 

 
 

 

 
 

 

A quick and easy way to calculate the liability and savings resulting from a merge of (up to) five 

properties into one. 

 

 



Calcurate   Page 2 of 4 

Select the location (England, Greater London, or City of London) then enter the details of the new 

property at the top 

 

 
 

 

If you enter an effective date of 1/4/17 you will be given the option to enter a Certified Value at 

31/3/17 (i.e. Regulation 18). See below. 
 

 

If the effective date is 1/4/17 and you do not enter a Certified Value, the calculator will use the 

formula R x J / S (Schedule 2) to calculate liability on the new property. 

 

 

 
 

 

If the effective date is after 1/4/17 the Certified Value fields will not be displayed – see below 
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In this example a new hereditament with an RV of 56,000 is created on 1/11/17 from a merge of 

RV’s 23,000 and 32,000 

 

Enter the RV of the old properties at the bottom, i.e. the RV at 31/3/17, the RV at 1/4/17, and the 

RV on the day before the merge (if different) as illustrated in the following exercise. 

 

 

Exercise  – Merge, England (not London) 

 

Property 1 - RV at 31/3/17 46,000 | RV at 1/4/17 23,000 | RV on day before merge 23,000 

 

Property 2 – RV at 31/3/17 64,000 | RV at 1/4/17 32,000 | RV on day before merge 32,000 

 

Merged with effect from 1/11/17 at RV 56,000 

 

What are the savings, if any? 

 

Input 

 

Enter the new RV and the effective date in the top section 
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Enter the RV details of the two original (or parent) properties in the bottom section, then click the 

“Calculate” button.  You will see the following warning. 

 

(the reason for the warning is that the Merge Calculator uses the Advanced Calculator therefore 

you will lose any calculations you have been working on) 

 

 
 

Click Yes – wait – you will see the following 

 

 
 

As you can see, in this case there is a negative saving – i.e. an increase. 

 

 

 
  

 


